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All Candidates' performance across questions

Question Title N Mean S D Max Mark F F Attempt %
1 1388 1.5 0.5 2 76.7 99.9
2 1391 5.4 1.3 6 89.3 100.1
3 1387 2.6 1.7 6 42.9 99.8
4 1390 2.7 1 4 68.5 100
5 1385 7.7 2.4 12 63.9 99.6
6 1388 7.6 3.4 15 51 99.9
7 1381 9.7 3.2 15 64.6 99.3
8 1368 8.8 3.4 20 44.2 98.4
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Line

Sticky Note
Usually the question number

Sticky Note
The number of candidates attempting that question


Sticky Note
The mean score is calculated by adding up the individual candidate scores and dividing by the total number of candidates. If all candidates perform well on a particular item, the mean score will be close to the maximum mark. Conversely, if candidates as a whole perform poorly on the item there will be a large difference between the mean score and the maximum mark. A simple comparison of the mean marks will identify those items that contribute significantly to the overall performance of the candidates.
However, because the maximum mark may not be the same for each item, a comparison of the means provides only a partial indication of candidate performance. Equal means does not necessarily imply equal performance. For questions with different maximum marks, the facility factor should be used to compare performance.


Sticky Note
The standard deviation measures the spread of the data about the mean score. The larger the standard deviation is, the more dispersed (or less consistent) the candidate performances are for that item. An increase in the standard deviation points to increased diversity amongst candidates, or to a more discriminating paper, as the marks are more dispersed about the centre. By contrast a decrease in the standard deviation would suggest more homogeneity amongst the candidates, or a less discriminating paper, as candidate marks are more clustered about the centre.


Sticky Note
This is the maximum mark for a particular question


Sticky Note
The facility factor for an item expresses the mean mark as a percentage of the maximum mark (Max. Mark) and is a measure of the accessibility of the item. If the mean mark obtained by candidates is close to the maximum mark, the facility factor will be close to 100 per cent and the item would be considered to be very accessible. If on the other hand the mean mark is low when compared with the maximum score, the facility factor will be small and the item considered less accessible to candidates.


Sticky Note
For each item the table shows the number (N) and percentage of candidates who attempted the question. When comparing items on this measure it is important to consider the order in which the items appear on the paper. If the total time available for a paper is limited, there is the possibility of some candidates running out of time. This may result in those items towards the end of the paper having a deflated figure on this measure. If the time allocated to the paper is not considered to be a significant factor, a low percentage may indicate issues of accessibility. Where candidates have a choice of question the statistics evidence candidate preferences, but will also be influenced by the teaching policy within centres.
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8. Tegan is a 43 year-old woman who is happily married with two children.
She had a happy childhood and her parents looked after her well.

(a)	 Explain how the family supported Tegan’s emotional development to ensure she had a 
happy childhood.	 [4]
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4

Sticky Note
Focuses on emotional development and   gets to the point.  Encouragement increases her self esteem.


Sticky Note
Focuses on emotional development and   gets to the point.  Looking after her and caring for her makes her stable,  sense of belonging  and content. 





0

Sticky Note
This response only says emotional development which does not explain how the family support Tegan.






3

Sticky Note
This answer starts half way through.  

Sticky Note
Last sentence does not talk about emotional support so not considered.


Sticky Note
Marks given for she was reassured so feels comfortable .  

Sticky Note
- Marks given for she was encouraged which makes her feel confident 
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8. (b)	 Discuss how a family can provide an environment that will encourage a child to progress
through the physical, intellectual and social developmental milestones.	 [8]
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1

Sticky Note
1 mark given for saying give the child toys to help with milestones.
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Sticky Note
Candidate identified area of development.
Intellectual – books made available, reading to the child


Sticky Note
Candidate identified the area of development.
Physical   - ways to develop gross motor skills – playground, parks, sporting activities to develop jumping, walking and climbing.






7

Sticky Note
The candidate does attempt to answer the question by identifying the area of development and then an explanation of experiences the child could be provided with and lastly the benefit.   Physical - riding a bike and running activities is weak, hence, top band of 7 marks  but not full marks.


Sticky Note
Social – play dates so child forms bonds.


Sticky Note
Emotional is not asked for so no marks.


Sticky Note
Intellectual – range of books to improve knowledge and board games for problem solving.


Sticky Note
Physical – bike riding and  activities to encourage running.  How a child can be helped to climb stairs.
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	 (c)	 Whilst Tegan was sorting out her parents’ belongings after they died, she discovered 
adoption papers and a letter from her birth mother.
She asked her aunt about the adoption papers who told her that she had been adopted 
and that her birth mother had also died.

Discuss how finding out suddenly that her parents were not her birth parents may affect 
Tegan’s self-concept.	 [8]

8.





8

Sticky Note
The self concept factors have been  identified and discussed.  Life experience is weaker  but the others are strong responses .  Hence, top band , full marks – 8


Sticky Note
Self concept factor identified and discussed.  This response is weaker than the other self concept factors.   


Sticky Note
Self concept factor identified and discussed.  


Sticky Note
Self concept factor identified and discussed.  


Sticky Note
Self concept factor identified and discussed.  


Sticky Note
Self concept factor identified and discussed.  





6

Sticky Note
Relationships

Sticky Note
Emotional development





5

Sticky Note
The response is  relevant,apart from the effect on her family,  but no self concept factors have been  mentioned.

Sticky Note
Candidate says that Tegan is unable to trust anyone - relationships. 

Sticky Note
Candidate has mentioned feelings of depression, suffering illness, wanting to know more and felt lied to  - emotional development.

Sticky Note
This sentence about affecting her family is irrelevant as this was not asked for in the question.
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Question Answer Mark AO1 AO3 


8. (a) Award up to 4 marks for a detailed explanation of how the family 
support Tegan’s emotional development. 
Award up to 2 marks for a list of support. 


Emotional 
Developing a bond by praising when she does something, 
cuddling when she is upset or frightened, being patient when she 
is explaining her feelings or does not understand something, 
listening when she wants to say something, providing a distraction 
when she is not happy or does not agree with a decision. 


4 1 3 
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Question Answer Mark AO1 AO3 


(b) 0-3 marks:  Answers which identify how a family can provide an 
environment to encourage physical, intellectual and social 
development, with little or no discussion.  May just be a list of 
effects.  Little or no reference to development milestones.  
Answers convey meaning but lack detail.  Little or no use of 
specialist vocabulary. 


4-6 marks:  Answers which explain how a family can provide an 
environment to encourage physical, intellectual and social 
development, with limited discussion.  May make some reference 
to developmental milestones.  Answers convey meaning, with 
some use of specialist vocabulary. 


7-8 marks:  Answers which discuss how a family can provide an 
environment to encourage physical, intellectual and social 
development, with clear evidence of understanding by referring to 
the developmental milestones.  Answers are well structured and 
clearly expressed.  Specialist terms are used with ease and 
accuracy. 


Likely answers may include: 


A happy childhood is when the main carers provide opportunity 
for a child to develop to the best of their ability. They do this by 
encouraging: 


Physical 
Clean, safe environment. 


Gross motor skills 
By providing space for the child to crawl; things to hold onto to 
give confidence to walk; support when sitting; opportunity to play; 
to develop from walking to running, hopping and climbing. 


Fine motor skills 
Given things to hold from a baby; let them hold in whichever hand 
they prefer; encourage drawing, fastening buttons and threading 
beads. 


Intellectual 
Given an opportunity to copy, explore, repeat actions, question, 
trial and error, doing a variety of activities, looking at a variety of 
objects and surrounding, allowing role play, encourage listening 
skills, playing, being read to, looking at books, being shown letters 
and picture symbols, being talked to, listened to. 


Social 
Spend time with people, family, extended family, peers, holidays 
(different culture), play. 


8 2 6 8.
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Question Answer Mark AO1 AO3 


8. (c) 0-3 marks:  Answers which identify ways adoption affects 
Tegan’s self-concept, with little or no discussion.  May just be a 
list of effects. Little or no reference to self-concept factors.  Little 
or no use of specialist vocabulary 


4-6 marks:  Answers which explain ways adoption affects 
Tegan’s self-concept, with limited discussion.   May make some 
reference to the appropriate self-concept factors.  Answers 
convey meaning, with some use of specialist vocabulary. 


7-8 marks:  Answers which discuss how adoption may affect 
Tegan’s self-concept, with clear evidence of understanding by 
referring to the appropriate self-concept factors.  Answers are well 
structured and clearly expressed.  Specialist terms are used with 
ease and accuracy. 


Likely answers may include: 


Tegan’s self-concept is likely to be affected in a negative way 
because she has the following feelings: 


Life experience 
Living a lie, betrayed, nothing around her is as it was.  She may 
have lack of trust/respect for those who knew she was adopted. 
She may feel she has missed an opportunity to meet her birth 
mother.  Grief for mother not known.  Could result in her lacking 
self-esteem and identity.   


Relationships 
She may no longer trust those around her and this may weaken/ 
break her bond with them.  She may have less respect for 
relatives that knew and become suspicious/untrusting of her aunt. 
She may lack identity with adopted family/lack something in 
common with them. 


Emotional development 
She may feel sad, let down, upset, angry, abandoned, anxious, 
rejected, unwanted, because she had been living a lie and did not 
know her birth mother.  Grief for mother not known. 


Culture 
Her mother not being her birth mother may make her feel 
different, as if she’s not part of the family.  Curious as she does 
not know why she was adopted.  May want to know the culture of 
the birth family/extended family and wonder who she is like in the 
birth family.  Concerned that she lacks genetic/health information 
from the birth family. 


Appearance 
Embarrassed, upset, lack of confidence. 


8 2 6 
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